hiVopsrpHya | —

/26

B OTohYEZLILL),

O 39 - 5 = HEY @ 45 - 8 = HEY
@ 19 + 2 = HiY ® 16 + 3 = HiY)
@ 19 + 8 = HEY ®@ 3 + 2 = HiY)
@ 39 + 4 = HEY @ 1l + 4 = HEY
® 17 + 2 = HEY 75 + 9 = HEY
® 19 + 9 = »H3Y @ 43 + 7 = »HEY
@ 17 + 5 = HEY Q 21 = 4 = HzY
® 51 + 6 = ED) 2 25 + 6 = HiY
@ 14 + 9 = D) @ 33 + 5 = HiY
17 + 4 = ED) @ 29 + 5 = HiY
@ 83 + g9 = HiY @D 7 + 4 = HEY
@ 13 =~ 3 = HzY ® 27 - 8 = HzY
@ 38 ~+ 9 = HxY ® 66 ~ 7 = HEY




hiVopsrpHya | —

/26
HOFobhYFEELZLLD,
D 39 + 5 =| 7 |»zv| 4 @ 45 -~ 8 =| 5 |»zy, 5
@ 19 =2 = 9 |»y | ® 16 -+ 3 =5 |»zyl |
® 19 -+ 8 =| 2 |»zy] 3 ® 3 = 2 =| | |»zy] |
@ 39 ~ 4 = 9 | sy 3 @ 1l = 4= 2 | »zy 3
® 17 =2 =] 8 |»zy| | ® 75 + 9 =| 8 | »zv| 3
® 19 ~ 9 =| 2 |»zv| | @ 43 = 7 =| 6 | »zv| |
@ 17 + 5 =] 3 |»zv| 2 Q 21 + 4 = 5 | »zy| |
® 51 ~+ 6 = 8 »zy 3 @ 25 + 6 =| 4 | »Hzv| |
@ 14 + 9 = | | sy 5 @ 33 + 5 =| 6 |»z 3
© 17 = 4 = 4 |»zy| | @ 29 ~ 5 =| 5 |»zy| 4
@M 83 + 9 =| 9 | »zv| 2 @ 7 = 4 = | |#»zv| 3
@ 13 = 3 =] 4 | »zy| | ® 27 + 8 =| 3 |»zy| 3
® 38 + 9 = 4 |»zv| 2 ® 66 + 7 = 9 |»zv| 3




